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A 
Deduction provision for profits tax

General considerations:


Revenue vs. capital nature


Trading vs. non-trading nature


Onshore vs. offshore transaction


Business vs. private transaction 

1.
Section 16 - deduction section
(1) In ascertaining the profits in respect of which a person is chargeable to tax under this Part for any year of assessment there shall be deducted all outgoings and expenses to the extent to which they are incurred during the basis period for that year of assessment by such person in the production of profits in respect of which he is chargeable to tax under this Part for any period, including- 

(a) where the condition for the application of this paragraph is satisfied under subsection (2), and subject to subsections (2A), (2B) and (2C), sums payable by such person by way of interest on any money borrowed by him for the purpose of producing such profits, and sums payable by such person by way of legal fees, procuration fees, stamp duties and other expenses in connection with such borrowing; 
2.
Section 17 - provision to disallow deduction
(1) For the purpose of ascertaining profits in respect of which a person is chargeable to tax under this Part no deduction shall be allowed in respect of- 
(a) domestic or private expenses, including- 
(i) the cost of travelling between the person's residence and place of business; and
(ii) subject to section 16AA, contributions made to a mandatory provident fund scheme in the person's capacity as a member of the scheme; 
(b) subject to section 16AA, any disbursements or expenses not being money expended for the purpose of producing such profits; 
(c) any expenditure of a capital nature or any loss or withdrawal of capital;

(d) the cost of any improvements;

(e) any sum recoverable under an insurance or contract of indemnity;

(f) rent of, or expenses in connection with, any premises or part of premises not occupied or used for the purpose of producing such profits; 

(g) any tax paid or payable under this Ordinance other than salaries tax paid in respect of employees' remuneration; 

(h) any sums that the person has, as an employer, paid in respect of an employee as- 
(i) an ordinary annual contribution to a fund established under a recognized occupational retirement scheme; or

(ii) an ordinary annual premium for a contract of insurance under such a scheme; or

(iii) regular contributions paid to a mandatory provident fund scheme, 
to the extent that the total of the payments exceeds 15 per cent of the total emoluments of the employee for the period to which the payments relate; 
(i) any provision made for the payment in respect of an employee of any sum referred to in paragraph (h), to the extent that the aggregate of such provision and any such payment as is referred to in that paragraph exceeds 15% of the total emoluments of that employee for the period in respect of which the provision is made; 

(j) any provision made in respect of an occupational retirement scheme other than for the payment of any sum referred to in paragraph (h); 

(k) any sum that the person has, as an employer, paid in respect of an employee as- 
(i) a contribution to a fund established under a recognized occupational retirement scheme; or

(ii) a premium for a contract of insurance under such a scheme; or

(iii) a contribution to a mandatory provident fund scheme,
where provision for payment of the sum has been made in a prior year of assessment and a deduction has been allowed for the provision in that or another prior year of assessment; or 
(l) any- 
(i) contribution that the person has, as an employer, made to the funds of; or
(ii) payment that that person has made as an employer for the purposes of the operation of,
an occupational retirement scheme other than a recognized occupational retirement scheme. 
(2) In computing the profits or losses of a person carrying on a trade, profession or business, no deduction is allowable for- 

(a) salaries or other remuneration of the person's spouse; or

(b) interest on capital or loans provided by that spouse; or

(c) a contribution made to a mandatory provident fund scheme in respect of that spouse; or

(d) in the case of a partnership- 
(i) salaries or other remuneration of a partner or a partner's spouse; or

(ii) interest on capital or loans provided by a partner or by a partner's spouse; or
*(iii) subject to section 16AA, a contribution made to a mandatory provident fund scheme in respect of a partner or a partner's spouse. 
3.
Rule 2A(2) of the Inland Revenue Rules



Examples:

1.
Exchange differences


- Consider whether it is of revenue or a capital nature


- Consider whether it arises in or is derived from transactions carried out in or outside Hong Kong.


- Exchange difference arises from closing of trade creditors’ or debtors’ accounts are assessable or deductible if the purchase or sale transactions relate to Hong Kong transactions.


- Exchange difference arises from closing bank accounts denominated in foreign currency are not assessable or deductible because the sale money, which is of a revenue nature, loses its revenue character once it is put into the bank. The sale money becomes the capital asset of the taxpayer.  The exchange difference from closing bank account denominated in foreign currency is therefore of a capital nature: Li & Fung case.


Exception: Money held by banks and financial institutions are the stock-in-trade of the banks and financial institutions.  Therefore, exchange difference arises from closing the accounts in foreign currency held by the banks and financial institutions are of a revenue nature.  Those exchange differences are assessable or deductible.


- Whether foreign difference arises from dealing in foreign currency is assessable or allowable depends on whether the dealing amounts to a trade or an adventure in the nature of trade.


- Whether the exchange difference is realized or unrealized is of less importance in Hong Kong.  In Hong Kong, it is important to maintain a consistent practice.

2.
Bad debt


- Read section 16(1)(d)


- Wide meaning of bad debt by businessmen but narrow meaning in section 16(1)(d): only (a) bad debt in respect of trading receipts or (b) money lost in the ordinary course of the lending of money is deductible.   For example, money lost on lending a sum of money to an employee by an employer (not in the ordinary course of the business of lending money) is not allowable.

General provision for bad debt is not allowable.  

General provision for bad debt refers to the making of provision for bad debt by reference to an estimated percentage of the outstanding trade debts on the date of closing accounts at the year end.

Specific provision for bad debt is allowable.   

Specific provision for bad debt refers to the situation where the reasons for writing off the debt are known and the amount of the trade debt to be written off is ascertained.  For example, a trade debtor owing $234,789 has been petitioned for liquidation (in case of a company or bankruptcy in the case of a sole proprietor) or the trade debtor has been untraceable for some time.

3.
Charitable donation


- Only donation paid to approve charitable organizations is allowable.


- The donation must be given in cash and without consideration received by the donor: Sandford Yung case.


- Not less than $100 in a year of assessment.


- Not more than 10% of the assessable profits after adjustments of non-deductible expenses and non-assessable income but before set-off of loss.


- For partnership, only donation made in the name of the partnership is deductible in the assessment of the partnership.  If the donation is made in the name of a partner of the firm, the donation is, subject to other qualifying conditions, allowable in the personal assessment of the partner who paid the donation.

4.
Legal expenses


- For debt collection - allowable if the debt is a trade debt.  [For trade debt, refer to section 16(1)(d)


- Dispute over contract - allowable if the contract is a trading contract.


- For leases - for the first lease, not allowable since the lease is regarded as a capital asset of the taxpayer; for renewal of a lease, allowable since the legal expense is regarded as repairing expense to an asset.


- For defending criminal offence, e.g., traffic offence, not allowable.


- For appeal against rating assessment, allowable.


- For appeal against tax assessment, not allowable.

- For increase of capital of a company, not allowable because capital of a company is of a capital nature. 

5.
Subscription to trade association


- Annual subscription, allowable.


- Life membership subscription, not allowable since life membership gives a long -term benefit to the taxpayer.

6.
Tax 


- Profits tax and property tax are not deductible.


- Salaries tax paid by the employer on behalf of the employee is deductible because the tax so borne by the employer is a benefit-in-kind assessable to salaries tax on the employee.

7.
Private use of cars and boats etc.


- If the car or boat is used partly for the private purpose of the sole proprietor or the partners, disallow the car or boat expenses to the extent to which the car or boat is used for private purpose.

8.
Rent paid to the sole proprietor or partner


- Rent paid to the sole proprietor, who is the landlord of the business office or shop, is not allowable.  At the same time, the rent received by the sole proprietor is not chargeable to property tax.


- Rent paid to a partner of a partnership in respect of the office or shop used by the partnership and that that partner is the landlord of the office or shop is allowable in the partnership profits tax assessment.  At the same time, that partner is assessable to property tax in respect of the rent received.


- If the office or shop is owned by the partners on trust for the partnership, the rent charged in the accounts of the partnership is not allowable.  However, no property tax is to be raised on the rent received by the owners (who are also the partners of the partnership).  If property tax is paid on the rent, the property tax can be used to be set off the profits tax of the partnership.

9.
Commission expenses


- If the commission recipient is not disclosed to the Inland Revenue Department, the commission is not allowable.

10.
Fixed assets lost or destroyed


- Sums recovered from insurance company are treated as sales proceed for the purpose of computing deprecation allowance of the asset.

11
Salary paid to relatives


CIR is entitled to look into the totality of the facts of the case to see for what in reality the salary is paid: Coperman v. William Flood & Sons. If the payment is excessive in return for little or no services rendered to the business, the CIR is entitled to disallow the salary.  For example, merely answering a few telephone calls may not be sufficient for payment of, say, $5,000 per month to a relative.  The sum paid is in reality some sort of distribution of profits of the business. The taxpayer bears the burden of proof to show that the payment is actually incurred in the production of profits rather than distribution of profits.

12.
Professional fees


Audit fee is of a revenue nature.  Accountant fee and legal fee for the purpose of listing a company are of a capital nature.

13.
Special deduction provisions: see Sections 16A to 16G.

14.
Interest expense deductions under section 16(1)(a) and 16(2)

For interest expenses to be deductible, the interest expenses should satisfy sections 16(1)(a) and 16(2).

Section 16(2) has 6 paragraphs:

- Interest incurred by financial situations is deductible.

- Interest incurred by public utilities companies is deductible.

- Interest payable to persons other than financial institutions is deductible if the interest is chargeable to Hong Kong tax.
- Interest payable to financial institutions is deductible if the repayment of the principal and interest is not, in whole or in part, directly or indirectly, be secured by a deposit (the holder of which is related to the taxpayer and) whereby the deposit interest income is exempt from Hong Kong tax.

- Interest is deductible if the loan is wholly and exclusively used to purchase machinery and plant or stock for sale.  The taxpayer and the lender must not be related to each other.

- Interest on debentures issued by companies through a recognized stock exchange is deductible

Exemption of bank interest income and Section 16(2)(d)

By virtue of Exemption from Profits Tax (Interest Income) Order, bank interest income accrued to persons after 22 June 1998 is exempt.

Example

A company placed a deposit with a bank for one month from 1 June 1998 to 30 June 1998.  The deposit interest was paid at the end of the deposit period.  A total interest income of $30,000 was received on 30 June 1998.

The interest income of $21,000 accrued to the company for the period from 1 June 1998 to 21 June 1998 is chargeable to profits tax. Interest income of $9,000 accrued to the company for the period from 22 June 1998 to 30 June 1998 is exempt.

Section 16(2)(d) requirements on deduction of bank interest expenses
For a bank interest to be deductible, the repayment of the principal and interest must not be secured in whole or in part, directly or indirectly by a deposit (the holder of which is related to the taxpayer and) whereby the deposit interest income is exempt from Hong Kong tax.

The Exemption from Profits Tax (Interest Income) Order and Section 16(2)(d)

The Exemption Order does not apply to a deposit if the latter is used as a security for a bank loan.

Example

A company placed a deposit of $1,000,000 with a bank for a period of 6 months ended 30 September 2004 and received a total deposit interest of $35,000 on 30 September 2004.  The deposit was used by the company as a security for an overdraft facility of $600,000 during the same 6-month period.  The company paid interest expense of $48,000 on the overdraft facility.

No exemption is allowed to the deposit interest.  The Exemption Order does not apply to a deposit if the latter is used as a security for a bank loan.  The company is chargeable to profits tax on the deposit interest $35,000 it received. 

The overdraft interest expense of $48,000 is allowable since the deposit interest is not exempt from Hong Kong tax.

Deduction of interest expenses after 25th June 2004

Section 16(2) (c) [non-bank interest not chargeable to HK tax], 

(d) [bank interest expense] and 

                      (e) [Interest expenses paid on loan exclusively used for purchasing machinery or trading stock]

With effect from 25th June 2004, 2 more conditions are required for deduction of the above 3 kinds of interest expenses:

Section 16(2A) [secured-loan test; the deposit interest is not chargeable to HK tax]

Section 16(2B) [interest flow-back test; involving sub-participating loan]

But better result for the taxpayer: part of the interest expenses may be allowed on reasonable basis or by apportionment. [Under the old law, before 25th June 2004, no deduction if conditions are not met.]

Section 16(2A) [secured-loan test; the deposit interest is not chargeable to HK tax]

Example 1

A Ltd. borrowed $1,000,000 from HK Bank and the loan was secured by a deposit held in the name of Alan, a director of A Ltd.  During the year ended 31 December 2005, A Ltd. paid loan interest $50,000 to HK Bank and Alan received deposit interest of $40,000. [Section 16 (2A) is relevant.]

Result:  Prior to 25 June 2004, the whole sum of interest $50,000 is not allowable because the loan is secured by an interest income tax-free deposit. [Section 16(2)(d)]    

After 25 June 2004, interest expense allowable to A Ltd. is reduced by the tax-free deposit interest $40,000.  The net interest expense allowable to A Ltd. is $10,000 (=$50,000 - $40,000).

Example 2

If the loan in example 1 is secured by the tax-free deposit for only the last 3 months of the year ended 31 December 2005 and the relevant deposit interest is $10,000, the allowable interest expense should be reduced by the same amount (of $10,000). The net interest expense allowable to A Ltd. will be $40,000 ($50,000 - $10,000).

Example 3

The loan in example 1 is secured by $500,000 and a property (or shares) worth $500,000.  The tax-free deposit interest is $20,000.

Result: Prior to 25 June 2004, the whole sum of bank interest $50,000 is not allowable.

After 25 June 2004, the allowable interest expense is reduced by the tax-free deposit interest $20,000.  The net amount of allowable interest expense is $30,000. 

Example 4

The loan in example 1 is secured, during the year ended 31 December 2005, by a deposit of $2,000,000 which generates tax-free interest to Alan of $80,000. 

Result: After 25 June 2004, the amount of allowable loan interest will be reduced by $80,000 x $1,000,000 (loan) / $2,000,000 (deposit) or $40,000.  The amount of allowable interest will be $10,000 (= $50,000 - $40,000). 

Example 5

A deposit of $2,000,000, which generates tax-free interest $80,000, is used to secure two loans: (a) a loan of $1,000,000 used for financing onshore business activities and (b) another loan of $1,500,000 used for financing offshore business.  Interest incurred on the onshore business loan is $50,000 and that on the offshore loan is $80,000. 

Result: As the deposit is used for 2 loans, the amount of allowable loan interest expense is reduced by  

$80,000 x $1,000,000 (onshore business loan) / $2,500,000 (total loans) or $32,000.

The amount of allowable interest expense is $18,000 (= $50,000 - $32,000). 

Example 6

The amount of deposit in example 5 is increased to $4,000,000, that is to say, only part of it ($4,000,000) is used to secure the 2 loans ($2,500,000).   The tax-free deposit interest is $160,000.

Result: The amount of allowable interest expense should be reduced by

$160,000 x $2,500,000 / $4,000,000 (part of the deposit) x $1,000,000 (onshore loan) / $2,500,000 (total loans) or $40,000.

The amount of allowable interest expense is $10,000 (=$50,000 - $40,000) 

Section 16(2B) [interest flow-back test; involving sub-participating loan]

Deduction of interest is restricted if there is an arrangement under which the interest payable will be paid, directly or through an interposed person, back to the borrower or to a person connected with the borrower who is not an “excepted person” within the meaning of section 16 (2E)(c).     [Excepted persons include the following:

-     person chargeable to HK tax in respect of the interest received in question

- a member of a recognized retirement scheme

- a public body

- a body corporate of which the government owns more than half in nominal value of the issued share capital 

- a financial institution or an overseas financial institution 

- person acting as a bare trustee 

- a beneficiary of a unit trust where the interest payment is in respect of a specific investment scheme]

Example 7

A Ltd. borrowed money from, and paid interest to, HK Bank.   B Ltd., which is a wholly-owned subsidiary of A Ltd., advanced a loan to (i.e. placed a deposit with) HK Bank with a loan sub-participation arrangement or agreement with HK Bank that the latter needed not repay the loan to B Ltd. until A Ltd. repaid the money to the latter.  

The interest paid by A Ltd. (the borrower) flows to HK Bank and then flows to B Ltd.   B Ltd. is a person connected with the borrower. 

Result: The interest paid by A Ltd. (the borrower) is not allowable because the interest finally flowed back to a person connected with A Ltd. 

Example 8 

P Ltd. borrowed $10,000,000 from, and paid interest $1,000,000 at an interest rate of 10%, to HK Bank.   From the very beginning, part of the bank loan, that is $6,000,000 was sub-participated by Q Ltd., the parent company of P Ltd. [That is to say, Q Ltd. placed a deposit $6,000,000 with HK Bank.]  The repayment of the principal $6,000,000 and the related interest by HK Bank was made conditional to or secured by the repayment of the loan $10,000,000 and the related interest by P Ltd. to HK Bank.  During the relevant year, HK Bank paid interest to Q Ltd.

Part of the interest paid by P Ltd. (the borrower) flowed back to Q Ltd., a person connected with P Ltd., part of the interest $600,000 is not allowable.  The rest of the interest $400,000 is allowable. 

Example 9

If the $6,000,000 loan was sub-participated by Q Ltd. for only 6 months during the whole year, the total amount of interest deductible would be as follows:

	
	
	$
	

	
	Interest payable on part of the loan sub-participated by Q Ltd.
	600,000
	

	Deduct: 
	Reduction by
	
	

	
	$600,000 x 183 days / 365 days
	300,000
	

	
	Interest on sub-participated loan deductible
	300,000
	

	Add:
	Interest on the loan which is not sub-participated 
	
	

	
	$1,000,000 x $4,000,000 / $10,000,000
	400,000
	

	
	Total interest deductible
	700,000
	

	
	
	======
	


Section 16(2C): there is restriction on interest payable on debt instrument if there is flow back of interest to the debt instrument issuer.   [Further on Section 16(2)(f)]

Deduction of Prepayment

Section 16(1) of the IRO allows deduction of all outgoings and expenses to the extent to which they are incurred during the basis period for the year of assessment in the production of profits chargeable to profits tax for any period. 

On close analysis of section 16 (1), there are two periods therein: (a) basis period during which an expense is incurred and (b) any period during which profit chargeable to profits tax is produced.

For example: A company, which closes its account on 31 December every year, incurs during the year ended 31 December 2001 a prepayment of rent $300,000 that covers the use of its shop in future years up to, say, 30 June 2008, is entitled to deduction of the full amount of prepayment of rent in the year of assessment 2001/02.  Indeed, that is the interpretation of section 16(1) and the practice of the Inland Revenue Department prior to  Secan v. CIR. 

In the judgment of Secan, their Lordships were of the opinion that deduction of expenses should, first, follow the generally accepted accounting practice.  If, then, anything is prohibited for deduction under section 17, the relevant expense is to be disallowed. 

By DIPN 40 issued in October 2002 and with effect from year of assessment 2002/03, the old practice was changed and the judgment of Secan should be followed; or in effect, the SSAP of the HKICPA should be followed in the deduction of prepayment. 

Profits tax computation

Example

Alan and Betty have been carrying on a trading business called Allbest Company in equal shares for a number of years. 

Alan has produced to you the firm’s profit and loss accounts for the year ended 31 July 2004, as follows: 

	
	
	$
	
	
	$

	
	Salaries 
	1,300,000
	
	Trading profits
	1,280,000

	
	Wages
	500,000
	
	Dividend
	38,000

	
	Severance payment
	20,000
	
	Net loss
	1,100,000

	
	Electricity
	50,000
	
	
	

	
	Taxes
	150,000
	
	
	

	
	Rent 
	130,000
	
	
	

	
	Water
	23,000
	
	
	

	
	Telephone
	30,000
	
	
	

	
	Interest expenses
	30,000
	
	
	

	
	Repairs
	27,000
	
	
	

	
	Legal expenses
	60,000
	
	
	

	
	Depreciation
	68,000
	
	
	

	
	Donation
	35,000
	
	
	

	
	
	
	
	
	

	
	Total
	2,418,000
	
	Total
	2,418,000

	
	
	((((((((
	
	
	((((((((


Alan provided with you the following additional information:

	Salaries
	
	
	
	

	   Alan
	$400,000
	
	

	   Betty
	
	$300,000
	
	

	
	
	
	
	

	Severance payment payable under the Employment Ordinance
	
	
	
	

	   To a staff leaving the firm
	
	
	
	


	Taxes
	
	
	
	

	Import duties
	$20,000
	
	
	

	Property tax in respect of the office of the firm
	$30,000
	
	
	

	Salaries tax for the accountant of the firm
	$40,000
	
	
	

	Profits tax
	$60,000
	
	
	


	Rent
	
	
	
	

	   Alan and Betty own the office of the firm. 
	
	
	
	


	Water includes the bill for Alan’s house of $7,000.
	
	
	
	

	
	
	
	
	

	Telephone includes the IDD bill of Betty’s maid of $3,000. 
	
	
	
	


Repairs include $17,000 for partition of a room of the office of the firm.

Legal expenses:

$20,000 for settlement of labour dispute.

    $10,000 for defending Alan’s careless driving while he was 



on the way to see a client of the firm; and

    the balance was a retainer fee.

Interest expenses

	
	On a bank overdraft of $50,000 secured by a deposit held in the name of Alan’s brother and wholly used to purchase a cat for the firm.  
	
	$5,000
	

	
	
	
	
	

	
	On a bank loan of $100,000 secured by Betty’s personal guarantee. The loan was used for the daily operation of the firm.
	
	$20,000
	

	
	
	
	
	

	
	On Alan’s loan to the firm of $100,000 at a favorable rate of 3% per annum and the loan was used for the general purpose of the firm.
	
	$3,000
	

	
	
	
	
	

	
	On outstanding debt of Betty’s credit card
	
	$2,000
	

	
	The Assessor agreed that one half of the credit card expenses were used by Betty for business purpose and the other half for private purpose.
	
	
	


Donation

    A cheque of $18,000 for the donation was issued in the name of Betty.

The balance was paid by a cheque of the firm to the Red Cross.

Tax written down values brought forward for the 20% and 30% pools from the year of assessment 2003/04 are $60,000 and $80,000 respectively.

Required:

(a)
Compute the assessable profits of the firm for the year of assessment 2004/05; and 

(b)
Prepare the profit and loss allocation for the two partners for the same year of assessment.

Answer

Profit tax computation

	
	
	
	
	$
	$
	

	
	Net Loss
	(*)
	
	
	(1,100,000)
	

	
	Add:
	Dividend
	
	
	38,000
	

	
	
	
	
	
	(1,138,000)
	

	
	Less:
	Partners’ salary
	
	700,000
	
	

	
	
	Property tax
	
	30,000
	
	

	
	
	Profits tax
	
	60,000
	
	

	
	
	Rent
	
	130,000
	
	

	
	
	Water (Alan)
	
	7,000
	
	

	
	
	IDD (Betty)
	
	3,000
	
	

	
	
	Repairs (C B A)
	
	17,000
	
	

	
	
	Legal fees (Alan)
	
	10,000
	
	

	
	
	Interest
	(for the firm)
	3,000
	
	

	
	
	
	(Betty)
	1,000
	
	

	
	
	Depreciation
	
	68,000
	
	

	
	
	Donation
	
	35,000
	1,064,000
	

	
	
	
	
	
	74,000
	

	
	Add: 
	Depreciation allowance
	
	70,000
	
	

	
	
	C B A 
	(17,000 @ 4%)
	680
	70,680
	

	
	
	(@)
	Assessed loss
	(144,680)
	(#)

	
	
	
	
	
	======
	


Notes

(*) Start with the accounting profit/(loss) per profit and loss accounts.

(#) Profit/(loss) for allocation to the partners.

(@)  4% annual allowance rate for commercial building allowance for 98/99 and after.  Also note if the expense is a kind of refurbishment (for 98/99 and after), refurbishment deduction, instead of commercial building allowance is allowable.

No assessable profit: no donation is allowable

Interest: overdraft $50,000 was wholly and exclusively used to purchase plant/machinery: interest allowable: section 16(2)(e).

Bank loan: $100,000: no non-assessable deposit interest, section 16(2)(d) not relevant

Lawyer’s retainer fee: allowable

In Cosmotron case [1997], severance payment is regarded as part of labour cost of the taxpayer’s business and hence deductible.

	
	Alan
	400,000  (salary) + 7,000 + 10,000 + 3,000= 420,000
	

	
	
	
	
	
	

	
	Betty
	300,000 (salary)  + 3,000 + 1,000  + 18,000 = 322,000



	
	
	
	
	
	


	
	
	Emolt
	R
	Bal
	Total
	

	
	
	$
	
	$
	$
	

	
	Alan
	420,000
	½
	(443,340)
	 (23,340)
	

	
	Betty
	322,000
	½
	(443,340)
	(121,340)
	

	
	
	742,000
	
	(886,680)
	(144,680)
	(#) see above for the adjusted profit/(loss)

	
	
	======
	
	=======
	=======
	


	
	
	Depreciation allowance


	
	

	
	
	20%
	30%
	
	
	

	
	WDV b/f
	60,000
	80,000
	
	
	

	
	Add: (Cat)
	50,000
	
	
	
	

	
	
	110,000
	
	
	
	

	
	I A
	30,000
	
	30,000
	
	

	
	
	80,000
	
	
	
	

	
	A A
	16,000
	24,000
	40,000
	
	

	
	WDV c/f
	64,000
	56,000
	70,000
	
	

	
	
	=====
	=====
	=====
	
	


C
Partnership Assessment 


Profit and loss allocation


Example


Alan, Betty and Charles are partners in a partnership.  Alan has an annual salary of $60,000 and yearly school fee of $10,000 for his son drawn from the partnership.  Betty drew an annual salary of $20,000 from the partnership.   The 3 partners shared the balance of profit and loss equally.

	
	First year of trading to 31 December 2003


	 
	Loss 
	$60,000

	
	Second year of trading to 31 December 2004
	
	Profits
	$120,000


	
	Profit and loss allocation


	
	

	
	Year of assessment 2004/05


	
	

	
	
	Emolument
	Ratio
	Balance
	Total
	Re-allocation
	Final Total
	
	

	
	
	$
	
	$
	$
	$
	$
	
	

	
	Alan
	70,000
	1/3
	(50,000)
	20,000
	(20,000)
	nil
	
	

	
	Betty
	20,000
	1/3
	(50,000)
	(30,000)
	* 7,500
	(22,500)
	@
	

	
	Charles
	-
	1/3
	(50,000)
	(50,000)
	# 12,500
	(37,500)
	@
	

	
	
	
	
	
	
	
	
	
	

	
	
	90,000
	
	(150,000)
	(60,000)
	nil
	(60,000)
	
	

	
	
	=====
	
	=======
	======
	=====
	======
	
	


[Note: Emoluments include partner’s salary AND other benefits which are privately enjoyed by the partner and the expense is charged in the profit and loss account.   Those expenses are disallowed in the profits tax computation of the partnership.]

	
	* 
	$20,000 x
	$30,000/($30,000 + $50,000) = $7,500
	

	
	
	
	
	

	
	#     Students: compute $12,500
	


@    This loss belongs to the individual partners forever even he or she leaves the partnership or dies.

If neither Betty nor Charles elects for personal assessment for 2004/05, their share of loss will be carried forward to set off against their future of profits.

	
	
	Year of assessment 2005/06


	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	
	Emolument
	Ratio
	Balance
	Total
	Loss B/F
	Profit after loss set-off
	loss c/f
	
	

	
	
	$
	
	$
	$
	$
	$
	
	
	

	
	Alan
	70,000
	1/3
	10,000
	80,000
	-
	80,000
	
	
	

	
	Betty
	20,000
	1/3
	10,000
	30,000
	(22,500)
	7,500
	
	
	

	
	Charles
	-
	1/3
	10,000
	10,000
	(37,500)
	
	(27,500)
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	
	90,000
	
	30,000
	120,000
	(60,000)
	87,500
	
	
	

	
	
	=====
	
	=====
	=====
	=====
	=====
	
	
	


If Alan or Betty elects for personal assessment for 2005/06, their share of the net profits (after loss B/F set-off) will be transferred to their personal assessment.  If they do not elect for personal assessment, profits tax will be charged on such profits and a notice of assessment will be issued to the partnership.


Change of partners during a year of assessment

Example

Alan and Betty are in partnership.   They share the balance of the profit and loss equally.  Alan and Betty draw a monthly salary of $3,000 and $2,000 respectively. 

On 1 October 2004, they admitted Charles as a partner who draws a monthly salary of $1,500.  The new profit and loss sharing ratio becomes 2: 2: 1 in respect of Alan, Betty and Charles.   During the year ended 31 December 2004, the partnership has an assessable profit of $120,000. Alan and Betty elected for personal assessment for the year of assessment 2004/05.

Year of assessment 2004/2005

First period: 1 January 2004 to 30 September 2004 (9 months)

Apportioned assessable profits: $90,000

	
	
	Profit and loss allocation


	
	

	
	
	Emolument
	Ratio
	Balance
	Total
	

	
	
	$
	
	$
	$
	

	
	Alan
	27,000
	1/2
	22,500
	49,500
	

	
	Betty
	18,000
	1/2
	22,500
	40,500
	

	
	
	45,000
	
	45,000
	90,000
	

	
	
	=====
	
	=====
	=====
	


Second period: 1 October 2004 to 31 December 2004

Apportioned assessable profits: $30,000

	
	
	Profit and loss allocation


	
	

	
	
	Emolument
	Ratio
	Balance
	Total
	

	
	
	$
	
	$
	$
	

	
	Alan
	9,000
	2/5
	4,200
	13,200
	

	
	Betty
	6,000
	2/5
	4,200
	10,200
	

	
	Charles
	4,500
	1/5
	2,100
	6,600
	

	
	
	19,500
	
	10,500
	30,000
	

	
	
	=====
	
	=====
	=====
	


	
	Overall allocation


	
	

	
	
	1/1/04 - 30/9/04
	1/10/04 - 31/12/04
	Total
	
	

	
	
	$
	$
	$
	
	

	
	Alan
	49,500
	13,200
	62,700
	
	

	
	Betty
	40,500
	10,200
	50,700
	
	

	
	Charles
	-
	6,600
	6,600
	
	

	
	
	
	
	
	
	

	
	
	90,000
	30,000
	120,000
	
	

	
	
	======
	======
	======
	
	



“Illegal” partnership


With a few exceptions of accountants, solicitors and stockbrokers, a partnership having, at any time during a year of assessment, more than 20 partners is an illegal partnership for that year of assessment.  For an illegal partnership, there is no profit and loss allocation for that year.  If the partnership becomes a legal partnership again in the next year, there may be profit and loss allocation again in that year.

D 
Loss Treatment

Loss set-off - Section 19C

Example

A Limited, which has been assessed with an assessable profit of $500,000 for 04/05, is also a partner in a partnership ABC Associates.  The partnership has been assessed for the same year of assessment with an assessed loss of $600,000.  The loss is to be shared equally by the 3 partners, A Limited, B Limited and Charles.

The following is the loss set-off in A Limited.

	
	
	
	

	
	A Limited
	
	

	
	Profit for year
	$500,000
	

	
	Less: Loss transferred in from ABC Associates 
	200,000
	

	
	Net assessable profits
	$300,000
	

	
	
	=======
	


The following is the loss position in ABC Associates after the transfer of the loss to A Limited.

	
	
	ABC Associates
	

	
	
	
	
	

	
	
	
	Less:
	

	
	
	
	Transferred out
	Position after loss transferred out

	
	
	
	
	$

	
	A Limited
	($200,000)
	$200,000
	Nil

	
	B Limited
	(200,000)
	
	(200,000)

	
	Charles
	(200,000)
	
	(200,000)

	
	
	($600,000)
	$200,000
	($400,000)

	
	
	=======
	=======
	=======


Example

P Limited, which has been assessed with an assessed loss of $300,000 for 04/05, is also a partner in a partnership PQR & Partners.   The partnership has been assessed with an assessable profit of $750,000, which is shared equally by the 3 partners, P Limited, Q Limited and Raymond.

The following is the loss set-off in P Limited.

	
	P Limited
	
	

	
	
	
	

	
	Assessed loss for the year
	($300,000)
	

	
	Less: Loss transferred out to PQR & Partners
	250,000
	

	
	Net loss carried forward 
	($50,000)
	

	
	
	=======
	


The following is the position of the partnership after the transfer of the loss from P Limited

	
	
	PQR & Partners
	

	
	
	
	
	

	
	
	
	Less:
	

	
	
	Profits
	Loss Transferred in from P Limited
	Net profit after loss transferred in from P Limited

	
	
	
	
	$

	
	P Limited
	$250,000
	$250,000
	Nil

	
	Q Limited
	250,000
	nil
	250,000

	
	Raymond
	250,000
	nil
	250,000

	
	
	$750,000
	$250,000
	$500,000

	
	
	=======
	=======
	=======


E N D
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